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What do you notice about the endpoints of the chords versus the arcs?A
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Theorem 10.2
In a circle or in congruent circles, two minor arcs are congruent if and only if their
corresponding chords are congruent.
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The chords of adjacent arcs can form a polygon!

H
- Quadrilateral MATH is an inscribed polygon because all its vertices lie on the circle.

SCircle E is circumscribed about the polygon because it contains all the vertices of the polygon.
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Caroline built a garden that is shaped like a pentagon that has five congruent central
angles. Determine whether the pentagon-shaped garden is a regular polygon.
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OW has a radius of 10 cm.
 Radius WL is 1 to chord HK,
* which is 16 cm long.
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Relationship Between Congruent Chords and Distance

Conjecture as a result of the drawing activity:
In the same circle or congruent circles,
two chords are congruent if and only if -\/Le;y ore
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Chords EF and GH are equidistant
from the center. If the radius of OP
is 15, and EF =24...
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